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Class:9

EMBOCS, NAWALPARASI
SPECIFICATION GRID-2081
First Terminal Examination-2081

Time: 1 hr 30 min. F.M-50
Subject: Comp. Maths
S.N | Topics No. of teaching hrs | Marks for examination
1 Set 10hrs 6
2 Arithmetic 10hrs 12
i) Taxation
3 Menstruation 4 hrs 5
i. Area of Triangle
4 Algebra 8 hrs 11
sequence and series
5 Geometry 3hrs 8
i. Triangles: up to Triangles
inequalities properties
6 Statistics & probability 3hrs 4
i) Classification and
Graphical
Representation  of
data
i) Arithmetic mean
7 Trigonometry 4hrs 4
i) Trigonometric Ration
Total 42 hrs 50

Class:9

Second Terminal Examination-2081

Subject: Comp. Maths

Time: 1:30 hrs

F.M-50

S.N | Topics No. of teaching hrs | Marks for exam
1 Set - 6
2 Arithmetic 12
i). Taxation 11lhrs
i) Commission,Bonus and Dividend
3 Menstruation 5
i) Local land Measurement units in Nepal 5hrs
ii) Area of four walls, floor and ceiling 6hrs
4 Algebra 11
i) Geometrical concept of (A+ B)* 4hrs
i) Factorization of type (a*+a?b?+b*) 2hrs




i) H.C.F 3hrs
5 Geometry: 10
i) Congruent Triangles 3hrs
i) ii) Similar triangles 4hrs
6 Statistics & probability 2
i) Median 3hrs
7 Trigonometry 4
i) Trigonometric Ratios of some standard angles 4hrs
Total 45hrs 50
EMBOCS, NAWALPARASI
SPECIFICATION GRID-2081
Third Terminal Examination-2081
Class:9 Time: 3 hrs F.M-75
Subject: Comp. Maths
S.N | Topics No. of teaching hrs | Marks
1 Set - 6
2 Arithmetic 13
i) electricity bill 3hrs
i) water bill 2hrs
3 Menstruation 13
i) Prism 6hrs
4 Algebra 15
i) L.C.M 3hrs
i) Indices 4hrs
5 Geometry 13
i) Parallelogram 4 hrs
ii) Construction 5 hrs
6 Statistics & probability 11
i) quartiles , mode and range 6hrs
ii) Introduction to probability 5hrs
i) Empirical probability 3hrs
7 Trigonometry - 4
Total 41 hrs 75




EMBOCS, NAWALPARASI
SPECIFICATION GRID-2081
Annual Examination-2081

Class:9 Time: 3 hrs F.M-75
Subject: Comp. Maths
S.N | Topics No. of teaching hrs | Marks
1 Set - 6
2 Arithmetic 13
i) Telephone bill 4hrs
ii) Calculation of Taxi fare 3hrs
3 Menstruation 13
i) Cylinder and sphere 11 hrs
4 Algebra: 15
Simultaneous linear question 9hrs
5 Geometry 13
i) Circle 5 hrs
6 Statistics & probability 11
7 Trigonometry - 4
Total 32 hrs 75




EMBOCS, NAWALPARASI
SPECIFICATION GRID-2081

Third and Annual Examination-2081

Class:9 Time: 3 hrs F.M-75
Subject: Comp. Maths
S. | Area K(16%) U(24%) A(40%) HA(20%) Tota | Total no | Total
N Ino | of mark
of question | s
no mark | no Mark | no mark | no mark | item | s
of S of S of S of S S
item item item item
S S S S
1 Set- 1 1 1 1 1 3 1 1 4 1 6
2 Arithmetic 2 2 2 3 3 5 2 3 9 3 13
3 Menstruatio 2 2 2 3 2 5 2 3 8 3 13
n
4 Algebra 2 2 2 4 3 7 1 2 8 3 15
5 Geometry 2 2 2 3 2 5 2 3 8 3 13
6 Statistics & 2 2 2 3 2 4 2 2 8 2 11
problem
7 | Trigonomet 1 1 1 1 1 1 1 1 4 1 4
ry
Total 12 12 12 18 14 30 11 15 49 16 75
Internal Evaluation
S.N. | Area of Evaluation Marks
1 Participations: attendance and participation in 3
classroom activities
2 Marks of terminal examinations 6
3 Practical /Project work (at least 1 project work | 16

from each area should be prepared and
presented in class)

Total

25




Model Question
first Terminal Examination

Class-9 Time-1hr.30min. F.M-50
1. saferaer sregas T gemar v feqe | (study the given venn diagrams and attempt
the question.) -
a) n(A) & & war eFmeaEE | (calculate n(A) . (1) A
b) N(A-B) #r # T e | (1) @@»
c) Prove that: swiitra e 1 n(AUB) =n(AUB) (3)
d) ny(A) + ny(B) # & Haee | (Calculate ny(A) + ny(B). (1) 10

2) sfwe ¥ wrEma \ifgs aad FA RS, 65,000 7 Rs. 45,000 @1 @l &% qelel drfererr
feguat @ 1 (Monthly salary of David is Rs. 65,000 and that of Anusha is Rs. 45,000.
The tax rate is given as below: )

For Up to 6 Lakhs 1% For Upto5Lakh 1%
married | 6 to 8 Lakhs 10% Unmarried | 5-7 Lakhs 10%
8 to 11 Lakhs 20% 7-10 Lakhs 20%

a) err aRerars # 6 fav =mersr ¢ (Why do we pay tax to government?) (1)
b) sfwe ¥ AT FErgd aftie arTr T evmrse | (Calculate the individual

yearly income of David and Anusha.) (2)
C) oA AfgaTed WU I« fqqa+ arie #2 9o avmeerd | (Calculate the tax paid by
Anusha at the edn of year if she is unmarried individual) (2)

3. Tdse! ieHi®! siftrd Jea 3. ¥Uooo Y1 TS ufawrd ge faur T 23% e YR 3.
%o, g¢o AT o1l foeh! §5 | 31d fEZUD! THBRIB! STURHT TADT UHTE D] IR e
(The marked price of an LED TV is Rs.45000.After allowing certain percent
discount and adding 13% VAT, the TV is sold at RS. 40,680.Now on the basis
of given information answer the questions below.
a) ¥Ic AT & dgdg ?(What do you mean by VAT?) 1)
b) VAT f&HT T.v &1 faeh! Jed TUMT g | (Calculate the selling price of
T.V.without VAT.)  (2)
C) @?m Ul ﬂ*lldj@li—l\lFind the discount percentage. (1)
4. Zenith' s monthly salary is Rs 35000 and annual tax allowance is Rs 250000.
(Sttrereer wrtae st RS, 35,000 & 7 arftie  RS. 250,000 s+9e6T am==Hr &2 82 & | )
a) Find his yearly income. (1)
(IFH! ATMF AR IT AR | )
b) Find the taxable income. (1)
(@R faae AT 9T ISR 1)
¢) What is the rate of social security Tax? (1)




(TSI FREAT FIHl 3T HI &l 7)
5. Sarmila made a triangular garden near her house in Daldale with its side 8ft,3ft
and 9 ft.@ferer = fear fadier sToAT o= ST A etewsw Ar9 waen 8ft, 3ft ¥ Oft wuewr
PreqetTeR aitemeRT freor e 1)
a) State the formula to find area of above triangular garden. (1)
(ITH AT GRS [Hhled ATATF I T deTeld |)
b)%CaIcuIate the area of that triangular garden. (2)
(SR(=MTehT &TARA [HhTedard |
¢) If Sarmila was able to increase side of triangular field having side 3 ft. to 8ft.
examine the new area of above triangle. (2)
(@fs e 3ft 1 fparTems 8ft @1 smTew Aferd a9 IH AR TAT SARA TUALT TR 1)
6. ugar e atear afehAr 14 fae, drar afear 16 fae, deit afwar 18 fae @ = 20 fae
TR AT FHH o0 fFegs s & | (In an auditorium hall there are 14 seats
in the first row, 16 in the second row, 18 in the third row, 20 in the fourth row and
so on in arithmetic sequence.)
a) FaTe=R et g7 et | (Write a formula to calculate common difference.) (1)
b) srF#er &7 g 60 g=z ? (Which term of given A.P. is 60 ?) (3)
7. Answer the following questions from the given series: 4+8+16+32+64
(feguapr sofrare e gever v faee : 4+8+16+32+64

a) What type of series is it? @ & ghre =i &) (1)
b) Find the common ratio. (FHT AT I AMS T 1) 2
c) find the n' term. (NN gz g1 AR ) (2)

d) Write the series in sigma notation. (feguar =vfrars sigma notation #1 =<k THar 1)

(2)
8. ABC wger faswt 211 (ABC is a triangle)
a) Define a Triangle. (1)
b) w¥eF e gEaer frar ABC fafsr @erdwar gar $iureh I¥0E 9T 99 97T A6l T e waT
TN PR TFE AT GleT g7 91 TARTeHS fatgare fag e | (Draw two triangle of
ABC of different shape and size and verify experimentally that side opposite to the
greatest angle is longest and the side opposite to the smallest angle is the shortest.)
(2)
c) AB=3.5cm,BC=4.2cmz AC=3.6 cm st AB + BC > AC zasTew 1 (If AB =
3.5cm, BC=4.2 cm and AC=6.3 cm then, Show that AB + BC > AC .

(1)



9. Examine the given triangle carefully and answer the given questions:
(Teguepr PIvsTel Ao T+ Jedessdl Iav [aderd |) A

a) If AB=AC, what is the relation between < ABC and < ACB? (1)

(AB=AC st < ABC ?< ACB & ¥¥~d @&2d 1)

b) If < BAC =80° ,work out the value of < ACB. (1) 8 ¢
@fs < BAC =80° wiv < ACB %' ®< qdl «¥S+ed | )

¢) Recall the relation between AD and BC if D is mid -point of base BC. Also

mention the vertical angle. (2)

(BC =1 weatag D ww AD 7 BC =1 @ @eted ¥ el 914 JeTed | )

10. HTEaTEl TRATAHT F AeATH 75 37 BER RarTgsd T=7 | Todl = 96l I8 G e |
(Kathmandu Metropolitan City Recycled 75 tons of trans in a certain month. Study
the given bar diagram and answer the questions.)

Organic Waste
25T ] Iron / Steel

a) T =T g WA RATSHFA W BEREH THR 20| e
&1 &1 7 (Find the highest amount of trashed 104 [ ot
recycled.) (1) 5T

b) deteh qeAtRaTe Heger aar avreerd ( Find the mean from given data.)

[3]
Income(Rs) | 4000 | 5000 | 6000 | 7000 | 8000 | 9000
No. of 10 20 11 22 12 4
persons

11. ABC is a right triangle in which gis the reference angle.
( ABC uzer gweriw st 1 | stgwr B &=t & & )

a) Write a mathematical relation of AB, BC and AC. (1)
(AB, BC ¥ AC =1 wiforfqar svag «&tzd 1)

b) What trigonometric ratio does % represent? (1)

AB\ N = S
(anﬁmvrﬁ?%maﬁml)

c) If sinp =% and AB=4 cm ,find the length of BC. (2)

sinﬂ:% 7 AB=4 cm wuy BC @ @i¥e1g o<1 S8 |




Model Question
Third terminal examination-2081
Class: 9 Time: 3 hour F.M. =75
Subject: Mathematics

1. gfdu = {x:x <10,x e N},A={x:x >5},B = {WQT@HW}andC =

{36 TBATET } WU
(IfU={x:x<10,x € N}, A = {x:x > 5}, B = {odd numbers} and C =
{prime numbers} then),
a. [a3U®! UYE godls YAIHRUl [AfUgRT TRege ™ (Write the given sets by
listing method.) [1]
b. i?(s'{d;l qHge Gbcllé ﬂqﬁamé@mﬂ (Show the given sets in a Venn-
diagram.) [1]
c. DTG T8 (Prove that): AN (BUC) = (ANB)U(ANC)
[3]
d. P Hlj,sa UhTHD HHe SH3®?fdh? (Which of the sets represent
singletons and why? [1]
2. [0 dohepT HHARY g | IH! HTRIS dad %. 65,000 | AfE 9 T IUAT 15
AR dad {1 9 e TS | T UHe® D! SR [Gd8™ | (Kiran is an

employee of a bank. His monthly salary is Rs. 65,000. If he gets 15 months
salary in a year including allowances and bonus. Answer the following

guestions.)
For Unmarried For married
Annual income Tax Annual income Tax

Rates Rates
Upto Rs 5,00,000 1% Upto Rs 6,00,000 1%
Additional Rs 10% Additional Rs 10%
2,00,000 2,00,000
Additional Rs 20% Additional Rs 20%
3,00,000 3,00,000
Additional Rs 30% Additional Rs 30%
10,00,000 9,00,000
Any additional amount | 36% Any additional 36%
above Rs 20,00,000 amount above Rs
20,00,000
a. THTISID JRET B YT & I8 ? (What do you understand by the social
security tax?) [1]

b. faur sifgarfed e aiffies wfd smaeR faqus 2 (If Kiran is unmarried then

how much income tax should she pay annually?)

2]



c. fawur faarfed yumn aiftfes i s ﬁil?l?& ? (If Kiran is married then how

much income tax should she pay annually? )

2]

3. fFafEH SRR STaex®! ATRI® T %. 40,000 | 3 Ha SN feh T 5%
S US| fS U AR ufe! & faeh! ¥ 10,00,000 & 1A, 74
UYEE P! STaTh ﬁﬂ@ﬂ{:(A doctor working in a clinic has monthly salary Rs. 40,000.
He gets 5% commission on total sales of medicine. If total sales of medicine in a month

is Rs 10,00,000 then, answer the following questions)

a.

5% HIHTAHR! 3 & EP[ ? (What is the meaning of 5% commission?)

[1]
Ueh Sl gRT UTWd AR HHIRM IHH Ul TFSI8I4 | (Find the monthly
commission amount received by a doctor.)

[1]
STFeRD! HIRID NI Hid UfA=Id HHRM IhH 8I2(What percent of

monthly income of the doctor is the commission amount?)

[2]

4. SIFRET AT 5 A fogeht fifex 3 0.5 3! UIST SIe™ IRUS! © | fegus! Yewad)
X 3TIR Y UsgEPHI IR ﬁﬂ@?—[l (Janasewa Secondary School has

Electricity Charge Rate of water consumption per month(0.5 inch pipe)
Units Service Charge Energy Charge
0-20 Rs. 30 Rs. 3 e  Min charge up to 10 units: Rs. 100
21-30 Rs. 50 Rs. 6.50 e Extra charge= Rs 32 per unit
31-50 Rs. 50 Rs. 8.00
51-100 Rs. 75 Rs. 9.50

connected with 5A electricity meter and 0.5 inch pipe.) Answer the following
questions according to the given rate of charges.

a.

1 WW%W ? (What do you understand by 1 unit of
electricity?) [1]

IRTRE 1 Bl frex RFSS 04560 T 96 1 7Td 04610 HT ARG HigHTD!
ﬁﬁljﬂﬁ faa fort smaxas o= X d oA TF{@HI (Calculate the amount

required to pay the electricity bill of the month of Baisakh if the meter
reading of Baisakh 1 is 04560 and that of Jesth 1 is 04610.)

2]
IRIRG AT 40 e U WUd YT 9=IRG AT Uite! foet =

SUIRGGIE

(If 40 units of water was consumed in the month Baisakh, find the water
bill of the month Baisakh.)

[1]

5. FAYSIHR SHIDH] ATGS 2:3:4 DI SUITHT DT B I¥eh! URIY 900m IgdhT &
(The sides of a triangular field are in the ratio of 2:3:4. Its perimeter is 900m then)




a. G BYSHT ddeT YoT HH: a,b T ¢ YT, Aysa! sref-uRkfd wid g=a2
If three sides of triangle are a,b and c respectively, what is the semi-perimeter of
triangle? [1]
b. SIRI! &FAHA PHid g8 ? (What is the area of the land?)
[2]
c. Tfd fifex 200 FUTTHT ST STHIHT Ui Uedh dREAR TS Bl ARTd Hid
g9 ?
(What is the total cost of fencing the land five times at the rate of Rs 200 per
meter? [1]
6. Fm o fUew a@I$Q$I 5 | (In the figure a solid prism is shown.)
a. RAYSTHR USHG! g Gdgd! &F Ul TS G & 81?7

What is formula to find Lateral surface area of triangular prism? A

[1] R
b. e [T Tde & ORI ISR N/
(Find the total surface area of prism.) B
[2]
c. fUsH®! Mo+ U= FI‘IIBﬂE»;R:I\I (Find the volume of prism?)
[2]
7. o) TeHEl ER®! HISH! IR [UIH] 8a%hd 88 I (HeR T | HISTH!
TS X ASTS HHTT: 6 e T 5 Fex T1 wiammr 3 a1 fier &9 d Hus! T3el Sl

T 2.25 T fiex \%ﬁtb_cfr lmﬁ 2 dc] AlcleX™ ¥-I (The area of four walls of a cuboid
shaped room in a school is 88sq meter. The length and breadth of the room are 6m and
5m respectively. The room has one door having area 3 sq meter and 2 windows having
area 2.25 sq meter.

a. Ufd ¥ AR ¥ 175 B X BT I T ded JID! IR T I8 ASH
Hd AN i ARS ?
What is the total cost of painting its four walls excluding door and windows at
the rate of Rs 175per square meter?

[2]

b. DISTH! IR FRITH GIhT I T Sed % 250 Ul aFf fIeHT wall paper
TIRITR] HT IS U< T Hw<T Bid TSt 91 HH WY arg 2 faigears
NSkl Tlﬁﬁﬂl (If the wall paper is pasted in the four walls of the room excluding
door and windows at the rate of Rs 250 per square meter then how much does it
cost more than when it is painted? Compare them.)

[2]
8. afe s Tforcfg Jufiar a= U -40 X 13" Ug 10 YU (In A.P., the 3 term is -
40 and 13" term is 10.)

a. Ufgdl U Y WM 3R Ul IS8 (Find the first term and common

difference.) [2]




b. 30°1UQ URIT TRISTEI (find 30™ term of AP.)
[1]
c. ®id 31 Ug 35 g9 Ul milldjs\lﬂ (Which term of the AP is 35?)
[2]
9. TADI UY Toh! I iaﬂélﬂ (Answer the following questions)
a. Q@OSHI Tlﬁ'eﬁﬂ (Factorize:)) x3-2x+1-a?-4ab-4b?

[3]
b. In 8x3-1 and 16x*+4x%+1 write common factors.
[1]
c. Find L.C.M of 8x3-1 and 16x*+4x%+1
[2]

10. TAHT UY §3h! IR faIgI (Answer the following questions)
a. (10x%), x # 0 ! A bId §& ? (What is the value of (10x°),x % 07?)
[1]
b, TRE TN (Simplify): (x™ + xm)™ Y 5 (n + xp ) AP (-
xm)p2+pm+m [3]
11. TR HTHR YTHT gadel Y8 AABC RIgeNT Ul BC A8 D I T3]

R (Draw two triangles AABC having different shapes then extend BC up to D then)

a. dIg<l B0 2ACD fauid 3= SIS ABC T 4BAC B GRTH A aRTeR g HA
TR = UHT GHTO TI_-;['@HI Verify experimentally that the exterior angle
4ACD is equal to the sum of opposite interior angleAABC and A4BAC.

[3]

b. 2ABCR &BAC &I A farg foriigs s gam e

Find measuring £ABC and £BAC then compare them.
[1]
c. U P HIVHI g3 HIVDI AT 2:3 T 1A, farfigears Ul S Ja |
If the ratio of two angles of a supplementary angle is 2:3, find them.

[2]




12. fegus! fome! SaRAT Y UsgSd! I laﬂélﬂ On the basis of given figure answer

the following questions.

Q (2x
B C B C B - -1 C

a. HMR IgHST ABCD, AB=8cm HT, CD &1 AU Hid S ?
In a parallelogram ABCD, AB=8cm, what is the measure of CD?
[1]
b. THMFIR IgUSt ABCD T, TS 24 = 115° T U AR Igust ABCD T,
i 2B g1 YA, D! T Ul S8 |

In the parallelogram ABCD, if 44 = 115° Find the value of4B In the
parallelogram ABCD [1]

c. THMIR Iqys ABCD I, 4B = (2x + 25)°X 4D = (4x — 15)° YT £BAD
DI T O SRS T8I

In the parallelogram ABCD, if 4B = (2x + 25)° and 4D = (4x — 15)° find the
value of4BAD. [2]

13. TADT TY oh! I iaﬂélﬂ Answer the following questions
a. HHclH %lﬁ‘li\ﬂd)\l g3l forivar ﬁ‘@j@ﬂ Write a property of rhombus.
[1]
b. TICT IS B T T SHT AB=5.4cm, BC=5.1cm, CD=4.9cm,
AD=6.2cm ¥ fg&uf BD=5.8cm 9 Construct a quadrilateral ABCD in which
AB=5.4cm, BC=5.1cm, CD=4.9cm, AD=6.2cm and the diagonal BD=5.8cm.

[2]
14. Tf fG3U®D! di® I ALA® 38 HT If the mean of given data is 38.
Weight 25 30 35 40 45
No. of 6 2 M 10 3
people

a. M ! O Uil TS89 what is the value of m?
[2]

b. faSUD! quaiar Rd i g Ul TISTE What is the mode of the data?
[1]



c. Ifd m =4 YT HTP U1 TSTB If m=4, find the mean of the data.
[1]
d. f<Id SRISRAT AIferenT §T8 AT Ul ASIe
Construct a cumulative frequency table and find median.
[2]
15. T3 AT 5 TIeT I7dl, 2 dieT Yl ¥ 3 dieT dldl 9 8% B o a1 U3el ad

IBEAG

A bag contain 5 red balls, 2 white balls and 3 black balls. If a ball is drawn at random,
a. B TRTIAID! g X 3ifewdd A Hid 672
What are the maximum and minimum probabilities of any events?
[1]
b. Tcll ST 3T JEITSHT Hid §=9? What is the probability of getting red balls?
[1]
c. Ul 91 BTl g T3 FRUTH Pl §5?What is the probability of getting a
white or a black ball?[1]
d. PIal g TS U Bl §-8?What is the probability of not getting
black balls? [2]
16. f43Ue! F=M1,AABC st YT 81 181 44BC = 90°, 4C = 60° I BT AC=20m
Tedh B
In the adjoining figure,AABC is right angled triangle in which, #ABC = 90°, A€ = 60°
and hypotenuse AC=20m.
a. STYR I HU YS! AT Ul S8
Find the length of base and perpendicular.
[1]
b. Sin AP HF Hid g8 Ul TWIIST8 what is the value of sin A?
[1] A
c. gHIoId Tli[ﬁﬂ (Prove that): sin?A = 1 - cos?A

[1]
NI 20
d. Tan AP BFSIUIHR 3UTd W™ 4

Write the trigonometric ratio of Tan A.
[1] B 60 C

THE-END



MODEL QUESTION SET
Class: IX Time: 3 hours Full Marks: 75

Attempt all the questions.

1. If U = {x:x < 10, x eN} is a universal set, A = {x: x is a factor of 6}, B = {y:yisa
prime number} and C = {z: zis a multiple of 3} are the subsets of U,

(a) What is the cardinal number set U? [1]
(b) Write (A m B) in listing method. [1]
(¢) Find (A'UB)-C and illustrate it in a Venn-diagram by shading, [3]

(d) What is the relation between A "B and A "B ~ C? Give reason. [1]

2. Mr. Yadav buys 100 cycles of same model from India and marked each cycle with
price Rs 5,000. He allows 10% discount in each cycle and sells all the cycles by
levying 13% VAT.

(a) What is the formula to calculate the price of cycle after allowing discount? [1]
(b) Calculate the selling price of all cycles with VAT. [2]

(c) If he deposits half of the selling price of all cycles excluding VAT in a bank for

next one year at 12% p.a., how much net interest will he get if 5% of interest is
charged as income tax%? [2]

A group of youths returned from foreign employment of a village wished to run
a mini-hydro company to uplift the economic status of the villagers. They sold

4,00,000 shares each of Rs. 100. After 1 year, the company made a net form of

Rs. 25,00,000 and the management committee of the company decided to distribute
Rs. 5,00,000 cash dividend among the shareholders.

(a) From which amount is the cash dividend distributed? [1]
(b) What percent of cash dividend was distributed? [1]

(c) How much cash dividend would Janak get at the same rate if he had 4,800 shares
and the net profit of the company was Rs. 30,00,000? [2]

The table given below shows the rate of electricity charge with service charge for a
5A meter box.

! Case kWh (units) | Service charge | Energy charge/unit

| C g

| onsumed units 0-20 Rs. 30.00 Rs. 0.00

18 up 1o 20 units o nhe L

a5 0-20 Rs. 30.00 Rs. 3.00

| Consume its

excpe‘:;:;g "";:: 21-30 Rs. 50.00 Rs. 6.50

| il 31-50 Rs. 50.00 Rs. 8.00 !

\ . i o i
A 5A transmission line is connected in Bina's house, and the meter reading of 1

Bhadra and 1 Aswin was recorded as 01045 units and 01070 units respectively. The
electricity office is at a distance of 2 km from Bina’s house. The minimum fare of taxi
is Rs. 14 and fare per 200 meter is Rs 7.20.



[#7]

. Gopal's house was completely destroyed due to the

Answer the following questions.

(a) How many unil ol electricily was consumed in Bhadra? 1]
(b) What was the electricily bill of the month Bhadra? 2]
(¢) 1f she used the taxi to go to the electricity office for paying the bill, how much

money did she pay for the taxi fare? (1]

In Geetanjali Secondary School, the room of class IX is
rectangular in shape. It is 15 m long, 10 m broad and 5 m
high. Also, it contains two windows of size 2 m X 1.5 m each
and a door of size 1 m X 4 m.

(a) Write down the formula to calculate the area of four walls. [1]
(b) What is the area the ceiling of the room? [1]
(c) Find the cost of colouring its walls excluding the windows and door at Rs 250
per sq. metre. (2]
(d) By how much more or less does it require to papering the walls at Rs. 275 per sq.
metre than couloring the walls? (1]

. On a sunny day, Mr. Shah was working in the field. He went to a store and

bought a cylindrical can completely filled with pineapple juice. The inner
radius of base of the of can was 5 cm and height 14 cm.

(a) What is the formula to calculate the volume of the can? [1]
(A) r*h (B) %mzh (C) 2nrh (D) 27r(r + h)
(b) How many liter of juice was filled in the can? Find it. [3]

devastating earth-quake on 12 Baishakh 2072 B.S. An
organization distributed the canvas for making the tent.
He made an equilateral triangular tent by using the canvas
including the floor for the temporary shelter. The edge of

the triangular face was 12 ft. each and length of the tent was
20 ft.

(a) How many square feet of canvas was given to him? (2]
(b) By how many feet would the length of tent be increased if he didn't use the
canvas on the floor? (2]

In a Boost up Test of mathematics held on last Sunday in a school, the marks obtained
by a group of students are 16, 24, 36, ...., 81,

(a) What is the formula to find the goneral term of a geomaetric sequence? (1]
(A) t,=a+(n-1)d B) ¢, =a+ @-1r
((J) I” = qmM (l)) t" = qM \

(b) What is the common ratio of the soquonco of marks? (1

(¢) How many students are there in the group? [2]



9. Solve the following problems.

(a) Find the H.C.E of 8a® + b? and 16a* + 4a’b* + b* [3]

(b) Simplify: 0{}/;):? X b{/ﬁ—f X (,{7/;_“? [3]

10. Zeena bought 3 kg of apples and 5 kg of oranges for Rs 1155 from a fruit corner. At
the same time, Chhiring bought 2 kg of oranges with the price of 1 kg of apples from

the same corner.

[1]

(a) Represent the given statements in linear equations.

(b) Find the rates of cost of apples and oranges per kg. [2]
(c) If the rate of cost of oranges were decreased by 10% and that of apples were
increased by 20%, how many kg of oranges and apples of equal quantity would
be bought for Rs. 55447 [2]

Draw two triangles ABC of different shapes and sizes. Explore the experimentally

11. (a)
the relation between the sum of any two sides and the third side. [3]

(b) A boy 1.8 m tall casts the shadow of length 3 m at 2:30 p.m., ;
what is the height of the tree which casts the shadow of length m

30 m at the same time? [2] p——— T -
A
12. A parallelogram ABCD is given aside. 2
(a) What is the relation between the diagonals of parallelogram? [1] ﬁ
(A) equal (B) perpendicular to each other g .
(C) bisect each other (D) bisect each other perpendicularly.

(b) If ZABC = (30° + p) and ZADC = (60° - p), what s the value of p? Find it. ~ [1]

(c) Construct a rhombus ABCD in which diagonal AC = 6 cm and diagonal
BD = 8 cm. [2]
13.Dipesh draws a circle with centre O and radius 5 cm. He draws a chord

PQ of length 6 cm and mark the mid-point M of it. Also, he draws
another chord RS and joins centre O to the mid-point N of it.

(a) What is the relationship between OM and PQ? M " Q

(b) Find the length of OM. [2]
(c) How should the chord RS be equal to the chord AB with respect to OM and ON?
(1]

Give reason.




14.Last week, the mathematics teacher of Children Park English Secondary Schog
administered a class test for class-IX students. He recorded the marks obtaineq by
students in the following table.

30
3

45 60

10

75 90

8

(@) What type of data is it? 1]

[1]
2]

(d) What is the average mark of students who secured more than median mark? [2]

(b) Construct a cumulative frequency distribution table?

(c) Calculate the median mark.

15.A mathematics teacher divides the students into groups of 6/6 students.
He rolls a die to select the student of a particular group for solving
certain question in the board. If he rolls the die once, answer the
following questions.
(a) Write down the sample space for the above experiment. [1]

(b) What is the probability of selecting the students numbered by an even number
in a group? [2]

(c) What is probability of not selecting the students numbered by multiple of 3 in a
group? [2]

16.In the given figure, a right angled triangle ABC is formed when a
ladder AC is rest against a vertical wall AB making an angle of 60°
with the ground. The length of the ladder is 18 ft. .

Answer the following questions:

(a) Which trigonometric ratio is represented by % ?

(1

(b) What is the value of tan60°? [1]
(c) What is the length of BC? (11
(d) What would be the size of angle ACB when the wall AB and the distance of the foot
of the ladder from the base of wall (BC) were equal? (1l

aas ... TheEnd ... aaa




